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Modbus &z 8 i, {FIERL 1 2. ERUABRAFE9600

Brasfmid
K
ik faik L7 R A EE
1 | SN FHIS (I wS) E | 14 |Char
UShort
20 | BiEpkTETres B | 2 | 0= e
1= ZRRE
UShort
0 = AEidE=
21 | TR S5 152 2 1= papEst
2= (Z1HER
UShort
Bit O:{:RE8
Bit 1:{RE8
Bit 2:{RE8
Bit 3:{RE8
Bit 4:{RE8
Bit 5:{RE8
Bit 6: 1 XY 1 {ETBR
22 | trsmsEs iE 2 | Bit 7: 1 KX 2 (K IR
Bit 8: 1 K5 3 X TIR
Bit 9: 1 X 4 (X TBR
Bit 10: 1 3 jEIEH
Bit 11: 1 EEjthEB (R
Bit 12: 1 %%
Bit 13: 1 [J&H]FF
Bit 14: 1 4G FiEHERSS S
Bit 15: 1 {RE8
UShort
0 = RE&FRH
23 | Bk SER | 2 |T-ER
2 = HE
3= W&




4= KE

UShort
30 | LRSS 1 FX(Eaesae 5t O=>Kfs6e
1={shE
Float
31 | JEE(LREEE 1 TR EEESE = SEREEREE 1 FFXAHREE,
(EBGEEALR A O
UShort
33 | EE(LRREE 2 FFA(HprESTees = 0=3k{she
1={she
Float
34 | BE(EREEE 2 SCATESTESE 1= SEEFLRISE 2 FRX(HEREEM,
(EEGEEAZR A O
UShort
36 | BEEfLRSE 3 FFX(HassTae E ‘iﬁﬁ‘é
1={hE
Float
37 | BE{LREEE 3 IR EE TR = SRR RIEE 3 TR,
(FEGIEAZRA O
UShort
30 | BRTERmEE 4 X Earae & 0=cHchens
1={she
Float
40 | BE(ERIEE 4 SCRTEES e = TRRE(ERIEE 4 FFAHREE,
(EBGEEAZR A 0
UShort
42 | BEEREE 5 FFAFrESF=S 15 0=3k{shE
1={she
Float
43 | BEEREE 5 LR ESFR = IREfERNES 5 FTRERERRL,
(ERGEETAZR A O
UShort
A5 | EFE(ERIEE 6 T FRes7ee = 0=>k{shE
1={she
Float
46 | BEEREE 6 LA ESFR = IREfERES 6 FTRIERERR,

{EREEEURLE S 0




UShort

48 | BN 1 FFER{FReS1EE Sy 0=3{HRE
1={hE
0=kFFF
49 | N 1 RESFES i 1=558
BN 1 FFE(ERE, IRAIBEN 0
UShort
L = . 0: 15
50 |HIN 2 FFX{EaEETres E AfsEhe
1={she
0=HfTFF
51 | A 2 Rssstees % 1=E
BN 2 FRESRfERE, IRAHALRH 0
UShort
A NS s 0= AE
52 | I\ 3 F{EEE TR % e
=1%Be
0=kFFF
53 | I 3RS A =558
BN 3 FFEo{eRE, IRAIAEN 0
UShort
54 | BN 4 XA E i ?i{fﬁb
=1%Be
0=HfTFF
55 | N 4 RSz A 1=558
BN 4 FRESRMERE, IRARHALRH 0
UShort
56 | Fo&mN 1 FFR{HaES17a8 = 0=>k{#RE
1={Ae
0x0000 = B
0x0100 = TE&T NG
57 | FEMN 1 RSS17e 1= 0x0101 = FEEENIE
TN 1 FREoRfERE, R
#259 0x0000
UShort
58 | ot 2 FrRfFrEES 178 15 0=>k{FRE

1={s8E




0x0000 = Btk
0x0100 = TEERTNIE

59 | TN 2 RES7es (B 0x0101 = ZEGANIE
ToERN 2 FFRR(ERE, RS8R
#23 0x0000
UShort

60 | ToEHA 3 FFKfReETT7as e 0=K{shE
1={5ge
0x0000 = BS&
0x0100 = FELTCKIEG

61 | TEEWN 3 RESEE (e 0x0101 = 7EEAXIA
ToERIN 3 FFRRMGERE, RS8R
#2335 0x0000
UShort

62 | LM 4 FREASTE i B
0x0000 = BS&
0x0100 = FELTCKIEG

63 | TEBMAN 4 IRSS1FE 1 0x0101 = FEEAXIG
TN 4 FFRRGERE, RS
#2335 0x0000
UShort

64 | TN 5 FrA(hRSS 7788 1 0=3kfiERE
1={gE
0x0000 = B84
0x0100 = FELTCKIEG

65 | LN 5 RES7e (e 0x0101 = ZEGANIE
TN 5 FFRR(ERE, RS8R
#2359 0x0000
UShort

66 | TL&EN 6 FrK({FreS7es = 0=K{shE
1={5ge
0x0000 = BS&

67 | FEmA 6 o = 0x0100 = fEZF KNG
0x0101 = E&AXIE
ToeimN 6 FFRARfERE, KSR




#2795 0x0000

UShort

68 | TN 7 FFKfERESTas 15 0=>K{&RE
1={sgE
0x0000 = BS&
0x0100 = FEEFSNIG

69 | TEEAN 7 REH1E8 15 0x0101 = 7EEAXIE
ToEEN 7 FFRRFRE, K&
#2335 0x0000
UShort

70 | &N 8 Frk(FaeEi7es 15 0=3k{sRE
1={sEgE
0x0000 = BI%
0x0100 = FEEFSNIG

71 | BB 8 KRS8 15 0x0101 = ZEGANIE
TSN 8 FFRR(ERE, RS8R
#2359 0x0000
UShort

72 | TN O FFX{FaeE7as e 0=K{shE
1={5ge
0x0000 = B3%
0x0100 = LA NIE

73 | BB 9 RES18E 15 0x0101 = ZEGANIE
ToEIN O FFRR(ERE, KSR
#2349 0x0000
UShort

74 | FoEMN 10 FFAfERes17as = 0=3k{sgE
1={F8E
0x0000 = BS&
0x0100 = FEE&FCNIG

75 | TEBN 10 RES178E 1= 0x0101 = FEEAXIG
ToERSRIN 10 FFRR(ERE, RSHA
#2335 0x0000
UShort

76 | KKF 1 FFR(FRES 75 = 0=3k{sgE

=8




Float
77 | kX 1 sSCRHES7ee = 4 | RKF 1 FFRGERERRR, KfERE
EHUAZA 0
UShort
79 | RKF 2 FFK(FEeE17eS 1 2 | 0=3k{FRE
1={F8E
Float
80 | KN 2 SCAHMES 178 15 4 KKF 2 FFR(FREB, KIFRE
EHIRE A 0
UShort
82 | KKF 3 FrkfHeessi7es jEu 2 | 0=3K{#RE
1=(sgE
Float
83 | XK 3 SERHES 7S Sy 4 KK 3 FFR(FEREERN, FKIFERE
EEIRE A 0
UShort
85 | KK 4 FFX({FpeE17es 15 2 | 0=3k{FRE
1={F8E
Float
87 | KNFI 4 SCAHES7se 55 4 | RIGH 4 FERERERRR, KfERE
EHIRE A 0
100 | RBEMNEESTFSE 5 8 | Double
UShort
104 Ay e 2 mren - 0=J5 M=K
REEMNRAZEHF TR B 2 .. i
2=
105 | iRBEMNSESTFSE 5 8 | Double
UShort
s [y =0 . 0=75_|"5.|5E§[|
109 | iREBEMNFEILSHSTFEE = 2 1=
2=F%
200 | FMEREIER K I HIZTT7ES 5 2 | 1=fsEE
201 | SMEREIEEIE 7S = 2 | 1={FEE




